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GENERAL STUDIES

1. A solar &ll unit is basically a :
(@) A semiconductofriode
(b) A semiconductor Diode
(©) A Junction between two good conductors
(d) None of the above

2. If 10° electrones move out of a body to mother body every second how much time it requires
to get a 1 coulomb chge on the other body?

[Given that ; 1yr= 3 x 10 sec]

(@)  About 2000 years (b)  About 200 years
(©) About 20 years (d)  About 02 years
3. As per Einsteins theorgnegy equivalent of 1 gm (One gram) substance will be :
(@ 5.6 x10°Mev (b)  9.09 x 10 Mev
(© 5.6 x 1G° Mev (d) 5.6 x10°Mev
4, There is no atmosphere on the moon. It is because :-

(@) There is no gravitational force

(b)  The gravitational force is comparitively small

(© Gravitational force is very high

(d) Molecules of diferent gases repell one another on the moon

5. What is browser?
(@)  Software to browse a source code
(b) Software to browse virus and malware
(© Software that enables internet users to view a web page
(d) Software to provide operating system and security

6. Which coding scheme is used in computer to represent data internally?
(a) Decimal (b) Integral
(© Binary (d) None of the above
7. Which is a multi usettime-sharing operating system?
(a DOS (b)  UNIX
(©) Ms-Office (d)  Android

8. What is RAM ?
(@) Volatile Memory (b) Non-\blatile Memory
(© Cache Memory (d) None of the above
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HTHTY  ASgY-
Th AR I THY Ad T | 8AT & —

(a) TH AHIPredex ((Efardd) gHETS
(b) TR AHIBredex (EfdaTdd) ST
(c) T 3 dATEdl & e AT

(d) SR d q g W T

I T avg W gAY ag W 10° U dde B R W golagH favenfud @ w® ©
A TN I W 1 HAW BN AMAY ThS 8 H fhad qHI TP

fear g f& : 1 a9 3 x 10 APvs)

(@)  <TI 2000 T (b) ST 200 U

() < TT 20 a9 (d) T 02 a9

ArgCH & Rgld & AR 1 gm (Ub IM) U & AAged Sl s
(a) 5.6 x 16° Mev (b)  9.09 x 1¢* Mev
(c) 5.6 x 13° Mev (d) 5.6 x 10° Mev

dedl TR AIYHUSH SURYA T8l B $HPI BRU I8 B b —
(a) T [HATHIU g e BIAT % |
(b)  THTHIT A AUATHT HH T |

(c)  TJocdIdbevl g9 9gd *Afed BT © |
(d) T W A= N6 @ o] wmeR fAeet (R gdherd) &R 2

FSAR R &7

(@) AP B FSH B ATl AIUCdIR |

(b) AR 3R HIIIR DI F9H B Tl ATFSAIN |

() d8 IUCdIR Gl Uexdc SUIRDIRI &I dd—Uol @< H Fergdl &Rdl g |
(d) g8 AHCIIR il AT Faeell QRIS Rieed) 3R gl U &xal =

AARE ®U ¥ Sl B YaNd B & oy HRYeR H DI W DIGT WH B
ganT A Srer 87

(@) TYHATG (b)  TUETTA

(c) 9T (d) SWRIad ¥ Bls A8

DI A TH Aol Yo (@ SYARM), <rzd Wy mmfeT fied g7

(@) sT¥ (b)  Ifrad

(c) THO UHO oMby (d) UgIss

RAM &7 & ?

(a) dIdTeTsd HERY (b) FIF drerersd HERI
() &Y AT (d) SWRIGd d§ A PIs el
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9. A public switching telephone network (PSTN) uses which switching technique?
(@) Packet (b) Message
(©) Circuit (d) None of these

10. The memory management scheme that permits the physical address space of a process to
non-contiguous space is called :-

(a) Paging (b)  Spooling

(© Swapping (d) None of the above
11.  Which of the following is fastest memory?

(@) Secondary Memory (b) Cache Memory

(© Auxiliary Memory (d) None of the above

12.  Firewall application is used for :-
(@)  Trapping inbound or outbound packets
(b) Scanning viruses
(© Encrypting Message
(d) None of the above

13. CPU stands for :-
(@) Central Protection Unit (b) Central Processing Unit
(© Central Power Unit (d) Central Prerogative Unit

14. Information is defined as :-
(@) Processed Data (b) Unprocessed Data
(© Raw-facts (d) None of the above

15. G U | stands for :-

(@)  Graphic Utility Input (b)  Graphical User Interface
(© Graphics Use Input (d) None of the above
16.  Noise pollution is measured in :-
(@) Fathoms (b) Decibel
(© Ton (d) Kilogram
17.  In which state the land slides are major problem?
(@) Uttar Pradesh (b) Uttarakhand
(© Chhattisgarh (d) Madhya Pradesh
18.  Which of the following is identified as most backward tribe in Uttarakhand?
(@) Jaunsarilribe (b)  TharuTribe
(© Van-Raiji (d) Bhotia-Tribe

19. The name of the person who is the originator of ‘Save Childhood Movement’ and recipient of
Nobel Prize for social work is :-
(@) MalalaYousufzai (b)  Arundhati Roy
(© Devendra Satyarthi (d) Kailash Satyarthi
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

% ufedd RAf efie= edd (PSTN @M Al RafRT ddb-id &1 YanT &xal
287

(@) U®c (b) W_W

(c) wfwe (d) SWREd § A PIs el

TR YdgE IHH S B fhar & ardfdd 9d @Y S8 Bl Ud AT Aol X
2 (M HeTerT W) B FHET ST B

(a)  ufST (b)  FgferT

(c) wafyw (d) SWad d F Pig T8l
1 # F a9 @ daaa wfa 2 2

(a) HdusA Hfa (b) @Y Hfa

(c) ofeda™ Ff (d) SWRed § A PBIs !

BRR dfd TWeildSd &I SUINT 8l gi—

(a) TAAISTE IR ATICARTS Udhed &I Udhsd & foly
(b) IARRE Ubsd & foU

(c) ¥ul & GHeag owd @ fou

(d) ST® § 9 Bg T

Hodlogo (CPU) &1 Adeld 8 —

(@) BT ARETT ghS (b) DT AAERE FhIS
() &g wfed s&1e (d) @I foenferer s®1E
STEHYA (aT) @ aR9Em § -

(@) WIS STl (b) 3 WS SIel

(c) I—wacH (de) (d) SWRIed d§ A PdIs el
SHo 3o IS0 BT dad B —

(a) UMb Jfefardt sayc (b)  UThhel JOIR B
(c) uf%aw g9 $91Yc (d) SWRed § A PBIs !
eafy UG HOT Sfar ® -

(a) weH A (b) ST #

() <4 (d) frarum A

fhd o0 H RIS TS U TR © 7

(@) SR UeW (b) STRTETVS

() BINaTe (d) HeIYTY

STRgve # Ify s SHenfd @ wu #§ fafed 8 —

(@)  SHTARI ST (b) TR SIS

() aF—xIoft (d) afear Sonfa

S Afdd w1 AM S {6 99U 99l Sfeldd @ Yadd & IR AMITe B
% o AA-RER UTd ddl 8, gi—

(a)  HATAT JGHTS (b)  Ir®URT T

(c) <dvg Fgreft (d) HaATy Feareft
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20.

21.

22.

23.

24,

25.

26.

27.

28.

Name the atmospheric layer that has following characteristics':

\Y

(@)
()

This layer extends to a height of about 440 km.
In this layer temperature rises dramatically reaching upto 1480°C.

This is due the fact that the gas molecules in this layer absorb the X-rays and ultra-
violet radiation of the sun.

It protects Earth from meteors and satellites as its high temperature burns up nearly
all the debris coming towards the earth.

Thermosphere (b) Mesosphere
Stratosphere (d)  Toposphere

Which produce was not cultivated under Harappan Civilization?

(@)
()

Barley (b) Sugarcane
Rice (d)  Wheat

‘Harshacharita’ was written by :-

(@)
()

HsuanTsang (b) Jayasi
Kalhan (d) Banabhatta

Who is known as ‘Napolean of India’?

(@)
()

Akbar (b) Malik Ambar
Chandragupta Maurya (d)  Samudragupta

The firstTirthankar of Jain religion was :-

(@)
()

Mahavir (b) Parshwanath
Rishabhdev (d) Neminath

TheAjanta Caves were built in :-

(a)
(b)
(c)
(d)

500 BCE to 1800 BCE
500 BCE to 1000 BCE
200 BCE to 700 CE
300 CE to 1000 CE

Which philosophy is associated with the Mahayana Buddhism:-

(@)
()

Vaibhashika (b) Sautrantika
Shunyavada (d)  Syadvada

For which purpose ‘Araghattaghataittra’'was used :-

(@)
()

For irrigation (b) For weaving cloth
For calculating time (d) For the construction of building

Which ruler completed the structure of Qutub Minar?

(@)
()

ESE-02

QutbuddinAibak (b) Balban
Razia Sultana (d) [ltutmish
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20. 9IgATSA @I 9 WA & AW daigd forddl FEifdd Nerdn 8-
| q8 WA 440 fHHo dF el T
I 9 WA # AUHH ACHT wY A 1480°C IF §¢ Gl |
I 39 WA H T SRl & g o fexel den e faaRe &1
NIRRT HRT & BRI AT BT 2 |
IV I8 Ioedbiurd Ud Iudel W Yedl Bl GRS dRal § ddifd gEdl Jed Al
gl @ R AN Tl ST AU Aeld B Slell <l © |

(@)  UHEIRBIR (b)  AARBHIN
(c)  FHAAY HUSA (d)  EnHvSH

21.  BSWl 99Al & IJdid fH9 Iarg T Wl A8 gy ofl?

@ (b) =T
(c) &= (d g

22. B9 ART B oEDH o —
(a)  BYA AT (b) STl
(c) Eagdl (d) d107 HE

23. BN AR @1 [Uiferdd’ AW W faga 2?

(a) SEZER (b) qfeTd 3R

() FaT< |1 (d) 99
24, O ¥H B YIH dfev or—

(@) HETER (b)  TTSdATeT

()  =&¥W <d (d)  =f¥eer

25.  3oll I YBIC gqrg g off—
(a) 500 S0 Yd ¥ 1800 S0 Y4 & HA
(b) 500 S0 Yd ¥ 1000 S0 Y4 ® HA
(c) 200 S0 9d ¥ 700 30 A9 & A
(d) 300 %0 W ¥ 1000 S0 AT & HH

26. PBIF A Y49 HEE dlg g9 9 wwWfwud 27
(a)  AwTRI® (b) wiETRa®
(c)  Y~aare (d) T 9%

27. SRESECIIF H IWINT fHA YA TG BT M7 -

(a) Ri=g =g (b) o= g1 B

(c) | 9I @ AT &g (d) wg= T 8g
28. b9 wN® A Hgd AR B GWREGAT DI YR HRATAT?

(a) @IgET Uddh (b) ddET

(c) RISTAT God T (d) gogdafiy
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29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

Who was the author of the book Onder that was India™
(a) Gulbadan Begum (b) R.C. Majumdar
(© A.L. Basham (d) RomilaThapar

The name of the guru of Kabir Das was :-
(@) Tulsidas (b) Ramananda
(©) Ramanujacharya (d) Vallabhacharya

The founder oVijaynagar Kingdom were :-
(@) Harihar and Dev Rai (b) Harihar and Bukka
(©) Bukka andAchutdeva (d) Harihar and Sadashiv

The ‘Treaty of Purandamwas signed between :-
(@) Akbar and Rana Pratap (b)  Jai Singh and Shivaiji
(©) Aurangzeb and Sahu (d) Jai Singh and Golkunda

Who founded in 1828 the Brahmo Sabha or Brahmo Samaj ?
(@) Ram Mohan Roy (b) Dayananda
(© Vivekananda (d) Ram Krishna Paramhansa

The Revolt of 1857 was started in Meerut on :-
(@) 10 March, 1857 (b) 18 May 1857
(©) 10 May, 1857 (d) 18 June, 1857

Moplah Rebellion brokeout in Kerala in :-
(@) 1905 CE (b) 1921 CE
(© 1928 CE (d) 1933 CE

Who adopted the policy of ‘Doctrine of Lapse’?
(@) Clive (b) Curzon
(© Dalhousie (d)  William Bentinck

‘Quit India Movement’ was started in :-
(@) August1931 (b)  April 1921
(© August 1942 (d)  April 1932

‘Azad Hind Fauj’ was formed by Captain Mohan Singh at :-
(@) Tokyo (b) Beijing
(©) Bangkok (d) Singapore

Which social reformer did not give importance to the existence of God and supernatural
guestions :-

(@) Swami Dayanand (b) Keshava Chandra Sen
(c) Ishwar Chandr&idyasagar (d) SwamiVivekanand
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29. ‘gUSY Q€ I gUSAT (3Yd WRd) TP D oi@d bl A?
(a)  oded 47| (b) 30 HI0 HYHIR
() WO T0 STYH (d) fer o

30. HAR I B [ Dbl AW AT -
(a) gordie™ (b) RTHTAT
(c)  RmETISIT=Td (d)  deavTaTd

31. oo TR 9T GRIUG O—

(a) BRex Td <a ¥ (b) BREx ud gadbr

(c)  99obT Td IrYgd <d (d) 'R vd HeIfg
32. R P AN 9 o wew gEERa @ g off -

(@) (PR UG IO Y9 (b) SraRAE vd fYarel

(c) JIRTNig td 418 (d) g wd MagUsT

33. §89 99 IT §8H GHNT Bl WIUAT 1828 H fhAd gRT @ TS oY
(@) XM #HEd 9™ (b)  EITA=<
(c) faa®sEe (d) IHGHIT URHAEH

34. WS H 1857 I Ihifa BT LU AT AT—

(@) 10 ¥, 1857 (b) 18 HS, 1857

() 10 #S, 1857 (d) 18 A, 1857
35. @Nol W HIU fd=le URTT g or -

(a) 1905 S0 ¥ (b) 1921 S0 ¥

() 1928 S0 ¥ (d) 1933 S0 ¥
36. gHIftd & Rigid (SfdeRd it ofw) & ifd & fead su=mar o

(@)  adTST (b) B

(c) SIS (d) fafeaw afes
37. URd Bl &l $d Y& g’ oAT—

(@) T 1931 H (b) WA 1921 H

() oI 1942 H (d) oWd 1932 #H

38. &9 Hgd Rig & gRI e f@e B &1 ed fhar wr or —

(a) <ifear o (b) AT A
(c) daie H (d) TR |
39. P9 9ANI GURS 7 SR & IR dAl URGl(bd TSI b Had A8l (adm—
(@) W TuHe (b) ®YT T HF
() SR % foumarr (d) @™ fadeEg
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40.

41.

42.

43.

44,

45,

46.

47.

48.

49.

‘Shulva Sutras’ were related to :-

(@) Rules of the society

(b) Medicine

(© Military techniques

(d) Measurements and construction of fire altars

Which bank has started the facility of cardless cash-withdrawalAfidvh?
(a) SBI (b)  Axis Bank
(© ICICI Bank (d) HDFC Bank

Which two international cricketers have been selected as Bradman Honourees-20147
(@) SachinTendulkar and/irat Kohli  (b)  Virat Kohli and $eveWaugh
(©) ShaneéWNarne and Sachifendulkar (d) SachinTendulkar and t8veWaugh

The Planet which has @st number of satellites is :-
(@) Mars (b)  Jupiter
(© Venus (d)  Saturn

‘Playing it my way’ is the autobiography of which cricketer?
(@) Sourav Ganguly (b) Rahul Dravid
(© Yuvraj Singh (d)  SachinTendulkar

With which of the following countries was the 2014 edition of SIMBEX Naval exercise
conducted by India?

(@) China (b) Hong Kong
(©) Singapore (d) Japan

In 2015, ‘Bharat Ratnavas conferred post-humousbn :-
(a) B. R.Ambedkar (b) J.L. Nehru
(© Madan Mohan Malviya (d) Nelson Mandela

On which route India plans to start its Bullet train :-
(@) Delhi-Agra (b)  Ahmedabad-Chennai
(© Mumbai-Delhi (d) Mumbai-Ahmedabad

Who wrote the book ‘Little India at risk’?
(@) Natwar Singh (b)  Jaswant Singh
(© Arun Jaitley (d) Man Mohan Singh

Who is the preseritttorney General of India?
(a) Ranjit Kumar (b) Rajiv Mathur
(© Mukul Rohatgi (d)  Suresh K. Reddy
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40. Yod gA gHEEA o —
(@) OmIfve fre |
(b)  IfEfr &
(c) I=g yrfafa 9
(d) 3fiF dfewrl & "9 vd fomor 9

41. 59 9% 7 wCgw ¥ (7 &8 & (@reo¥) Tae—aril & gfaer ures @ g8?
(@) w0 dio 3o (b) ufrRE d®
(c) amgo o g0 Mo g0 §k  (d)  TA0 S0 THo o g

42,  fB9 a1 IARIEEH e Raafsal &1 dsH9 AI—2014 (@=F) & oy AT
TT:
(a) Wfd dgaax &R faRie ®igel (b) fRIe digel iR W9 df
() u4 a sk dfa dgaax (d) wfE dgeaex &k we df

43. Eqi¥e SYUE drdl U8 oi—
(@) HIA (b)  gzwufa
(c) (d) wf¥

44. I3 g 95 9 P9 fhee Raarsr &1 amEmer 27
(a) WRa IR (b) <A sfs
() gxra fHE (d) | dgoex

45.  Rdeg At e [T BT 2014 GBI, IR A B9 I B AT AR

fpar err?
(@) A= (b)  BITHIT
(c)  FHTTYR (d)  SITUTH

46. 2015 H FAIWRG 9Rd ¥~ feam m@r o
(a) dlo 3RO IHESH (b) S0 0 TE®
(c)  #gd HIgd AreAfaar (d) SAddT HUSH]

47.  WRA &9 A W goe ¢ YRS &R B AT S & 8-

(@) faoell — oM RI (b)  IIEHIIITE—AS

(c) Hras—faea (d) HHES—IATHAIIETR
48. gwo fafea sfisar e R fHas fodr?

(a) AR f¥E (b) Saa s

(c)  3r®UT Sicel (d) w9ArEqT g
49.  Id9E ¥ YRT BT P Vel SIRd 27

(a)  ¥ofld @R (b) XTSI AR

(c) dE\A gl (d) G . IS
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50. Who is'the National Securidvisor (NSA) under the present BEdvernment at centre?
(@) Ajit Doval (b) Shivshankar Menon
(© Brajesh Mishra (d) Gen.\V.K. Singh

51. Who was given the Pulitzer prize for poetry in the year 20147
(@  Arun Shourie (b)  Vijay Seshadri
(© Arundhati Roy (d) Chitra Subramanyam

52.  Date of creation of Uttarakhand state in Indian Republic was :-
(@) 1st January 2000 (b) 9" November 2000
(© 1st January 2001 (d) 9" November 2004

53.  Presently how mankrticles and Schedules are there in the Indian Constitution?
(@)  410Articles and 12 Schedules  (b)  412Articles and 10 Schedules
(© 423Articles and 1 Schedules (d)  395Articles and 12 Schedules

54.  Which ConstitutionaRmendment puts a legal check on defection?
(@) 51 ConstitutionaAmendment
(b) 529 and 9% Constitutionahmendments
(c) 539 Constitutionahmendment
(d) 55" Constitutionahmendment

55.  Vice-President of India is elected by :-
(@) Rajya Sabha
(b) By the people
(©) By the members of both the houses of Parliament
(d) By Parliament and Legistativessemblies of the states

56. The Preamble of the Constitution declares India as :-
(@) Sovereign Democratic Republic
(b) Sovereign Socialist Democratic Republic
(© Sovereign Republic
(d) Sovereign, Socialist, Seculddemocratic Republic

57.  Which article of the Indian Constitution deals with the promotion of International Peace and

Security?
(a)  Article 52 (b)  Atrticle 65
(© Article 50 (d)  Article 51

58. How many seats are reserved for women in Panchayats bytGedstitutionaAmendment?
(@) YaSeats (b) Seats
(© 20 Percent (d) No Reservation
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50.

51.

52.

53.

54.

55.

56.

57.

58.

&g H IAHH AT YA @ SR ST GRElT AllghR DI 87

(a)  3roid srara (b) frav®H AAT
(c) goiw fas (d) <o do Ho R
e 2014 B BHiAA Bg YfolcoR REPR b fear war or

(@) 3w W (b) faorm wemfy

(c) g T (d) o= ggquaH

RO TORNY 8§ SORIEvs oy fmior &) fafer off —
(a) 1 SIHFaRT 2000 (b) 9 HIHER 2000
(c) 1 SIHFaRT 2001 (d) 9 FI%R 2004

gIAE H WRAY | 6 fhaw srgwes &R eyl &7

(a) 410 ITWT SR 12 IFQRRAT (b)) 412 IATWT AR 10 AT
(c) 423 3rgewd SR 11 YRRAT  (d) 395 Igewe SR 12 AT

DI A HAdIS FUEd TA—dqdd U BT Adb I 27
(a) 51 9 FdeT«d  que

(b) 52 9 9 91 9 WauUT\d AueH

(c) 53 @ dAdurfs AuEd

(d) 55 @ Fdurfs ASEH

YRA ® SU—RESUS B FAd Bl B -
(a)  IoI|IT gRT

(b) OIAdr gINT

(c) 9T & T FeAl b Hel gRI
(d) 9 3R =9 B QTR gRI

AT @ UK & AJIAR AR Udh —

(a) |l gYdT FE AlBAId TR 7 |

(b) EHOl U¥dT HFS GHSER] ABAiSE ORI T |

(c) 7ol yqar F¥= TR R |

(d) IOl 9qdT H¥= FATEG] U FRUST dldhdifye TR T |

IR AfAEE &1 S 91 fwes Mg Ifd &k gRem & dAwfua 27
(a) 3T 52 (b) 3ITWT 65
(c)  3r=Wa 50 (d) 3IT=WT 51

73 4 wifdenfe dWem & gRT AR & fov daradi § fhde e omRferd
fea ™ 27

(@) Ya M (b) Y I
(c) 20 gfawda (d) PIs IRV B!
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59. The purpose ocAdjournment Motion in Parliament is -
(@) Discussion on went matter of public importance.
(b) Oppositions attempt to collect information from Ministers
(© To demand reduction in the amount of a grant
(d) To demand check on the violent behaviour of some members

60. The power of the Supreme Court of India to decide disputes between the Centre taté the S
falls under which jurisdiction?

(@)  Advisory Jurisdiction (b)  Appellate Jurisdiction
(©) Original Jurisdiction (d) Writ Jurisdiction

61. President of India can be removed frorfioaf through :-

(a) No-Confidence Motion (b) Impeachment
(© Judicial Process (d) None of these
62. In which of the following regions, is maximum amount of Insolation received?
(@) Polar regions (b)  Sub-Tropical region
(© Cold region (d)  Temperate region

63.  On which river is the Pong Dam constructed ?
(@) Ganga (b)  Tapti
(© Yamuna (d) Beas

64. Nanda Raj-Jat yatra starts from :-
(@) Kansua (b) Nauti
(© Nand Prayag (d) Kurur

65. Match theList-I with theList-1l and select the correct answer from the codes given

below:-
List-I List-lI
(National park/wild life sanctuary) Location
A. Bandipur National Park 1. Mysore
B. Chandraprabha Sanctuary 2. Varanasi
C. Dachigam Sanctuary 3. Jammu and Kashmir
D. Namdapha National Park 4. Arunachal Pradesh
Code :A B C D
@ 3 4 1 2
(b) 1 3 2 4
(c) 4 2 3 1
(d) 1 2 3 4
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59.

60.

61.

62.

63.

64.

65.

TAC H AT TR dF Bl 9e™ il 2

(a) AEG® HAEd $ JIAETRD e W T8 B =g |

(b) fouferml g AR 9 gET U @A T

(c) A arga™ & AT H Bl DR Bl A G |

(d) AU ¥R & 96 FIeR R Ad I g AT BT |

Bg R AT b A fAarel 1 AU BT B YRT b Swdd AR B
yfea, ey 87
(@) wEY AffreR a3 & Faid (b)Y AVER &aF B Ifld

(c) I JIOBR &3 & Ifded (d Rc Jf¥eR &3 & sidid
ART & ESAT DI IS A BSRT O Ahdl Bi—

(a) AfIar UITd g (b)  HETAIT §RI

(c) =% uwfkar grr (d) TTH & @3 &I

& 9 fow a3 ¥ afdeaw gdam & "= ura gar 27

(a) gdg yay H (b) U Hfegey goy H
() g u<w #H (d)  FFIAEor ey H

g7 9 fed 98 w AT 87

(@) T (b) Tl

(c)  Ig=r (d) <149

T NSI-STd I URE Bl g -
(a)  BIF3T (b) SIS
(c) 9 UgnT (d) oS

- B g ¥ g AR ok R T gt § ¥ W@ S ghR -

- Ligl

Rred Su / uyfaEr) (fRerfey)
A FIEIqR LT SEAT 1. 3R
B.  AY9l UYfIER 2. ARTTH
C.  arferq uyfasr 3. U® Ud HHR
D.  AT=T®BI ¥ S 4.  FHUTIA Y_W
Be— A B C D
(a) 3 4 1 2
(b) 1 3 2 4
() 4 2 3 1
(d 1 2 3 4
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66.

67.

68.

69.

70.

71.

72.

73.

Whichtemple of Uttarakhand is popularly known as ‘Supreme Court":-
(@) Barahi Devi temple (Champawat) (b) Kalimath (Rudraprayag)
(© Chitai (Almora) (d) Dhari Devi (Pauri Garhwal)

Ozone layer is mainly made up of :-
(@) Ozone gas (b) Carbon dioxide gas
(© Nitrogen gas (d) Hydrogen gas

What is the status of the Earth in the Solar System?
(a) A Satellite (b)  APlanet
(© A Sar (d)  AComet

On which route of the Uttarakhand is Om Parvat situated :-
(@) Roopkund -Gwaldam (b) Kedarnath-Kakbhusandi
(© Malpa-Mansarovar (d) Badrinath-Satopanth

Which seismic wave covers longest distance and is most violent and destructive ?
(a) ‘P’ wave (b) ‘S’ wave
(© ‘Pg-Sg’ wave (d) ‘L’ wave

The Jet aircrafts fly very easily and smoothly in the lower stratosphere.
What could be the correct explanation for this ?

1. There are no clouds or water vapour in the lower stratosphere.
2. There is no vertical wind in the lower stratosphere.

(@) 1 only (b) 2only

(© Both 1 and 2 (d) Neither 1 nor 2

Consider the following statement and select the correct answer from the given code :

Assettion A : In Himalaya, diferent forest belts lie within a particular altitude.
Reason R The Himalaya has ddrent types of forests due to climatic variations.
Ans:

Code

(@) A andR both are true anR is the correct explanation &f

(b) A andR, both are true bR is not the correct explanation Af

(©) A is true buR is false.

(d) A is false buR is true.

‘Make in India’ Campaign started on :-
(@) 01 September 2014 (b) 25 September 2014
(c) 01 March 2015 (d) 25 March 2015
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66.

67.

68.

69.

70.

71.

72.

73.

JTRRITS BT HIF AT Hfex Hald TR & AH A dlbid -

(@) IRME <d "R (IHTeq) (b) BIHS (e AT

(c) fuas (sremrsT) (d) oI <4 (@S] Tedard)
M IR U@ ®I | I B

(@) o= I gRT (b) HTET STEJATRITSS ERI
(c) Ageo (F39F) T §RT (d) EBESIoE 19 g

ARAvSd # gl @1 w® gREa © ?

(a) TP SUTE B (b) UH B dI

() TPd dR @I (d) Ud Y& aR @l
SRIETS & fbd AN W A udd Rerd & —

(a) wURTS — TaTAeH (b) DIRARS — BHYESI
(c) AT — HAFERIAR (d)  SEETT — |G

D W B dR AF & T B T dl y9vs 9 faAmmery 27
(a) ‘P’ oI} (b) 'S’ =R
(c) ‘Pg-Sg’ oT=R (d) ‘L' o=

f gadg gved ¥ Oic TR HI¥e NI Ud 9 %Y 9 Ssd @ |
8 foy SWad W0 91 B 9ad 27

1. f=—adig gvsd ¥ dIcd Sdl Wil 9139 Fel B 2|
2. fr—8du gved § Sediid Udd A8l Bl 2

(a) g 1 (b) Had 2

(c) 1 R 2 TEI (d) T dr 1 3R A= 2

fFfoRad wod W AR $INT Jer W8 SR &1 o949 A ™ g § PIfe?

T A fearerm # fafrr o9 ufedt us faver Sa & ol B &

HRO R : Sy fAfy=aeil © $Ro fRare™ # 9 UeR & 99 ufedt ari
S € |

Idv:

®e

(a) A IR R T 9 € IR R, A @ & ARAT g |

(b) A R R I 9 WG R, A @ FE IRAT TRl T

() A9 8 g RITad 2|

(d ATId 8 W< R I T

qRd H AT @6 s9 sfUan) A UR' gem om—
(a) 01 Rga=R 2014 (b) 25 RgA=R 2014
() 01 #/E 2015 (d) 25 ¥/ 2015
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74.  ‘Clean’India Mission’ was inaugurated on :-
(@)  1January 2015 (b) 2 October 2013
(c)  2October 2014 (d) 1% January 2014

75.  Prices of total commodities produced and services within a country in, a giveis keamwn

as -
(@ GNP (b) GDP
(©) Personal Income (d) Per Capita Income

76.  Which of the following function is not related to RBI :-
(a) Credit control
(b) Issue of currency notes
(©) Lending of money to public
(d) Lender of the money to commercial banks as a last resort

77. If the impact and incidence of tax is imposed on one and the same person, then it is known

as:-
(a) Direct Tax (b) IndirectTax
(©) Progressivdax (d) Regressiv@ax

78.  When was “Special Economic Zone” (SEI) introduced?
(a) March 1991 (b)  April 1998
(© April 2000 (d)  April 2014

79. Data collected originally for an investigation is known as :-
(@) Primary Data (b)  Secondary Data
(© Source Data (d) None of the above

80. Who estimates the National Income data in India?
(@) Planning Commission (b) Reserve Bank of India
(© Finance Ministry (d) Central $atistical Oganization

81. Characteristics of a developing country are :-
(@) Low per capita income
(b) Increasing pressure of population on economy
(© Capital deficiency
(d) All of the above

82. Disorder of which of the following gans, causes the disease-Diabetes in humans?
(a) Liver (b) Kidney
(©) Lungs (d) Pancreas

83.  Typhoid fever is an extremely serious infection of the gastrointestinal tract. It is caused by:-
(@) Salmonella typhi (b) Vibrio Cholerae
(©) Mycobacteriumluberculosis (d) Trypamosoma

ESE-02 18) Series-A



74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

W R WA BT Iqulcd AT oAT—
(@)  UBell ARl 2015 (b) & 3T 2013
(c) 3 3R 2014 (d) U8l SRl 2014

Pl ¥ & o} UP q¥ & Ifqd IUIed a3 Td HARN & I Bl Pal
ST 8

(a) AP T IATG (b) Wb ERS] SR

(c) dafped M (d) ufa =afe sma

1 & 9 o9 a1 o Rod 9% offe sfsar 9 wwfa =8 87
(@) g gz

(b)  Hu1 FRifT &=

()  SHdT &I ZKoT AT

(d) TR d61 & [fH FoTerdT &1 HRIgHIET BT |

IfT PR BT RO UG HRYT U o Afdd W gsdl & o 99 hed & —

(@) g PN (b)  URIET WX
(c) gt &) (d) gfamEr &
“faver onfdfe &= A @9 @y @1 T AP

(@) = 1991 (b) 31T 1998
(c) 31y 2000 (d) T 2014

Uh AT B o Aifeld wU | Hdferd ST (WHG) dEAd § -

(@) wreIfAe AH® (b) fgdre ¥

(c) &= 98® (d) SWRigd § HIs 8l
AR § EST M & Sl (WH®B) & MHad HIF Bl & 2

(@)  JISHET [T (b) ¥R Rod d@

(c) faa #H=mer™ (d) DT ARGDI FTeA

fopradia v @ oIRFe fauemar 8 -

(a) =1 gfa afda ma

(b) 3l ART WX SEERAT HT dedl Gard
(c)  YSit &1 3mMma

(d) SWRIFd g

9 # ¥ fBd 3 d PR & RO 7wl H AgHE I IR BRI 87
(@) IPd (b) &t
(c) ®%s (d) T

TRHIES SR oo} o U (IRglge<egad U) # 8 arel TR HHAT B |
sAPT SART B & -

(@) FeHAdr <% gRI (b) fafgar &

(c) WIEHIdIINTT cIRFAI I (d) fegsraraT
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84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

Presence of which hormone in the urine is the basis for the common test for pregnancy?
(@) Growth hormone (b) Testasterone
(© Human chorionic gonadotropin  (d) Relaxin

EbolaVirus causes :-
(@) Hepatitis (b) Hemorrhagic fever
(©) Encephalitis (d) SpringViremia

Tetanus is caused by :-
(&) Bacteria (b)  Virus
(©) Fungi (d) Protozoa

Betadine is an antibacterial solution containing :-
(@) Formaldehyde (b) Hydrogen Peroxide
(© liodine (d)  Alcohol

Which plant group is commonly known as amphibians of plant kingdom?
(a) Bryophytes (b) Pteridophytes
(©) Algae (d) Gymnosperms

Who proposed natural system of plantlassification ?
(a) Carolus Linnaeus (b) Bentham and Hooker
(©) Engler and Prantl (d) Hutchinson

Which part is absent in Gymnosperm?
(a) Embryo (b) Endosperm

(© Ovule (d) Ovary

Which fungus grows on a bread?
(@)  Aspenillus (b) Rhizopus
(© Yeast (d)  Synchytrium

The class of hormones that stimulates cell division in plants is :-
(@) Cytokinins (b)  AbscisicAcid
(©) Hydroxyindole acetic acid (d) Ethylene

National Botanical Research Institute is situated at :-
(a) Lucknow (b) New Delhi
(© Kolkata (d) Mumbai

ESE-02 (20) Series-A



84. HA H IJURYT DA ERAM AW THIRU-IRIAV BT IMMER 27
(@) WA BRAE (b) CIETRENTH
(c) BgHT SIRITS MASIZIUA (d) Rafeas
85.  gdlell fIEMT] & HRUT BT © —
(a) ®dersfew (b) < WAl @R
() sawmarsfed (d) RgT gzt
86. o (fee«) grar g -
(a) dFIRAT gW (b) AT BRI
(c) Ddd; g (d) JICIo AT gINT
87. dTRM TS IMOREN (T JedRan) g9 7 fod urar omar @ -
(a) BRATSIEISS (b) HESISERREEIESIES
(c)  3maIe+A (d)  3rehIEd
88. fhd UIQU g &I URY S BT SHIARI (TRHII) Hal Sl 27
(a) dTIIHTseH (b) <RIBS
(c) dtara (d)  SFATgAEIS
89. UIGUI & AU B UTHiad UoTell HI e gfauiied faam enm?
(@) 3w fafrasg (b) 97 IR TAR
(c) 37 IR ured (d) EfgTa
90.  JMGadrsl (Rread) § @i a1 Wi JguRerd 8iar & 2
(@) Yo (b)  yoTdTEr
(c)  dISTTve (d) sIsTwY
91. DM ¥ BhE S AT W I 77
(@) TERfIad (b)  XTESIIUNH
() wWHR (d) FFersfean
92. BRANE d8 I o Ucdl H Hif¥er fayred a1 afhy wxar ®, 8-
(a) wrseraTsf (b) vafafTe s
(c) glsSTRl S~eid URIfed uRis  (d)  uferefi=
93. I dAWIG JIHUE HRIH R § -
(a) EECER) (b) A3 faoel
()  BIABTAT (d) Hgw3
ESE-02 (21)
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94.

95.

96.

97.

98.

99.

100.

Acid rain is primarily due to :-
(@) Presence of dust in air (b) Presence of water vapour in air
(©) Carbon-di-oxide (d) Oxides of Sulphur and Nitrogen

MatchList-1 with List-Il and select the correct answer from the given codes :

List-1 List-1l
A. Flows between Satpura and 1. Mahanadi
theVindhyan
B. Forms a delta in Odisha 2. Narmada
C. Hemavati, Herangi and
Amravati are its tributaries 3. Brahmaputra
D. River also known a$sangpo 4. Cauvery
Code: A B C D
(a) 2 1 4 3
(b) 1 3 2 4
(© 4 2 3 1
(d) 3 4 1 2
Which of the following is not a green house gas ?
(@) Hydrogen (b) Carbon Dioxide
(©) Methane (d) Chlorofluorocarbons

What is responsible for the Nitrogen fixation by legumes?
(a) Mycorrhiza (b) Rhizospheric microflora
(© Rhizombia (d)  Soil fungi

Stone cancer ofaj Mahal is primarily due to pollution from?
(@) Emissions from Mathura refinery (b)  Growing population oAgra
(© Change in climate (d) Pollution from tanneries

Who is known as architect of Green Revolution in India?
(a) Dr. Kurien (b) Dr. Swaminathan
(© Dr. Pachauri (d) None of the above

In the process of production of egglin Sun, it is :-
(@) Conversion of hydrogen into oxygen

(b) Conversion of carbon into hydrogen

(© Conversion of hydrogen into helium

(d) Conversion of Blium into hydrogen
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94. 3TN R H@: BI & —
(a) @y ¥ gal & SuRefa (b) g H STAdRT B IuRefc
(c) @A —STs—3ifaagsa (d) B T A B IS

95. Al @I Al W gAfod dIw T e Y wel 9 W8 SR giR—

gHA-| -1l

A, 9dYl U9 faews & weg 9udl 2| 1. AT

B. anfSwr § Seer 991 2. THar

C.  eHrgdl, BTl AT SHRTI! 3.  §8HYA
AES  AfGAl ® |

D. < &I AT 91 &8d B | 4. BTI

@ — A B C D

(a) 2 1 4 3

(b) 1 3 2 4

(c) 4 2 3 1

(d) 3 4 1 2

96. fr=faRad # & @4 A1 gRa [ I &l 77
(@)  EIESSIvA (b) HTEA TS JAMRITSS
(c)  #HH (d) FARIBARTBTE T

97. Tl BAl gRT T30 (ATSgIoM) RISV & foll R SRRl 87
(@)  ATSHINIZS (b) RTZOIRBRE HAZHI FARI
()  <rgIfaaT (d) FaT HdD

98.  ASMMEd ®I UMY Hdhe (b=IR) AT fhad UG ¥ 8 @ 87

(a) HII-REETI A IHwA (b) IMRT HI dgail AET A

(c) oy # uRadd ¥ (d) TAS & BHREFE b USIUT A
99. WRd ¥# BRa HId & forg argfds & wU ¥ A S0 Wr &7

(a) S0 HRIT (b)  ST0 THIATLA

(c) =0 gAY (d) SWRad d F B A8l

100. I H I Iured &I Ufhar § g T -
(a) gTggIold &I IMadrod § gfRadH
(b) HEF BT BSsIoA H TRddd
(c) EZgSIoM &1 eiferad H uRadd
(d) Bifemd &1 gEsiod #§ uRad|

ESE-02 (23) Series-A



